
DeVilbiss  Air Power Company  •  213 Industrial Drive  •   Jackson, TN  38301-9615

MGP-FAC1025-2      9/18/99

OWNERS MANUAL FOR
PERMANENTLY LUBRICATED AIR COMPRESSOR

(For Home Use Only)

*A circuit breaker is preferred. Use only a fuse or circuit breaker that is the same rating as the branch
circuit the air compressor is operated on. If the air compressor is connected to a circuit protected
by fuses, use dual element time delay fuses (Buss Fusetron Type "T" only).

G



12 — ENG

PARTS  LIST

����	�
�

����
����


��������
��

��������

���
�����

���

���

����	

����	�
�

���
��
���

���������

������

��
�

���
�

��������

��������
��
�����
�����

�	������
��
�����
�����

�
�
����

DESCRIPTION PART NUMBER

AIR CHUCK ............................................SSH-20
REGULATOR ..........................................CAC-4296-1
TANK PRESSURE GAUGE .....................C-GA-345-B
OUTLET PRESSURE GUAGE .................C-GA-345-B
SAFETY VALVE .......................................TIA-4150
DRAIN VALVE .........................................SS-2707
CHECK VALVE........................................CAC-1275
ORDER PRESSURE  SWITCH
ASSEMBLY .............................................DAC-4105-2  (100 to 125 PSI)
ISOLATOR ...............................................SST-5314-1 (4 used)
AIR HOSE................................................H-7048

PARTS AVAILABLE FOR THIS UNIT

�����	���



13 — ENG

AIR COMPRESSOR DIAGRAM



14 — ENG

PARTS LIST

KEY
NO. PART NUMBER DESCRIPTION

1
2
3
4
5
6
7
8
9

10
11
12
13
14
21
22
25

-----
CAC-1196
CAC-1212
CAC-1199
CAC-4323
SSG-8169
AC-0161
-----
-----
-----
N/A
CAC-1342
CAC-1213
AC-0470
AC-0471
-----
-----

NOT ILLUSTRATED
H-2099

Screw #10-24 x 7/8 LG. hex head thd forming (4 used)
Cylinder head
Tube seal
Head gasket
Valve plate assembly
"O" ring
Outlet tube
Rod assembly
Screw 3/8-16 x 1.25 LG. hex socket flat head
Cylinder sleeve
Endbell assembly
Timing belt
Pump isolator
Shroud (right)
Shroud (left)
Screw #10-9 x 1/2 LG. Phillips head thd forming (5 used)
Screws, ground #8-32 x 3/8 LG. Slotted hex head, thd forming

Adapter 1/4" x 1/4"

* KK-4949 Isolator Kit includes items 3, 4, 6, 13.

x KK-4929 Fastener Kit includes items 1, 9, 22, 25.

KK-4964 Connecting Rod Kit includes items 8, 10.

*

*

*

*

x

x

x
x


